6 PAST AND PRESENT 2 3=

% 77 Complete this dialogue by putting the verbs in brackets into the correct form of the past simple or present
perfect. Use contractions where possible.

victor1a: Hi, Sue. 1 (1) ... haven't seen (not/see) you for ages! »
SUE: Hi. No, I'm sorry I (2) v (not/be) in touch with anyone recently ... I
(G (be) really busy.

vicroria: Oh, what have you been up to then?

SUE: Well, you know I (4) .o (leave) my job in January so that I

(5) i s {can) go freelance as a graphic designer?
vICTORIA: Yes, I remember, you (6) ...ccooovvviiiiniii (talk) a lot about that last year. How'’s it going?
SUE: Well, it (7) oo (be) a really difficult year so far. I (8) ..o

(never/do) anything like this before ... it’s much harder work than I (9) .o

(imagine). (10) ..o (you/ever/be) self-employed?

victoria: No, never, although T (11) .o (often/ think) about it. So, why has it been
so difficult?

SUE: Well, at the beginning I (12) (have) two or three good clients — and,

you know, people that I (13) (know) for many years, like Tom Pierce.
And since then T (14) oo (have) a lot of interest from different companies,
but none of them (15} oo (become) regular customers.

vicTor1A: What about advertising in the specialist magazines?

SUE: T (16) oo (already /do) that. T (17) i {(put) an advert in
Design Monthly a couple of months ago,but T (18) ..o, (not/ get) any replies.

victoria: Oh, dear, well, (19) ..o (put) up a website with examples of your work?

SUE: Yes, I (20) oo (just/finish) it. Would you mind having a quick look at it

and tell me what you think of it?

Look at the graph and read the passage about technology stocks. Complete the text by putting the verbs in

brackets into the correct form of the past simple or present perfect.

Market report:]

a rocky road for tech stock




